


/\xoﬂ tfote] x2—3x+2 = a+bx+cex(x—1)+dx(x—1)(x—2)

A W, a+b+c+do G F5HH? (Ha, b, ¢, dE



<

Ja—(x=y)b—(y—z)c—4z=00°] x, y, 2] kol TA glo]

A}

O O



4. oI -3 +ax+ 55 x+ 25 Y UHA7L 30| a9
A7

D 0 ® 2 3 3 @ -2 B -3



=
7%

sk



A 3x2 +2x+1=a(x—1)2

o, = b O] gh2?

=
[}

6.

@ 8 B 6

® 2

@D 3



7. kO grell BARCI(2K ~ 3k)x — (k + 2)y - (kK — 4)z = 28°] &4
AHSIER xy, 20 FS AT o, 3x+y + 29 FHL?

D 1 ® 2 3 3 @ 4 B 5



FA f(x)E x- 322 YRS 9] &Kol Q(x), A7} 10]1L,
0(x) € x - 22 Y32 1o w27} 20|t} f(x)E x-2E
948 o] hialg ok

LFH—V.L

@D 1 @ 2 ® 3 @ 4 ® 5



9. x99 f()E x+ 12 s o, Y47} 20|tk o]
(@ —=x+3) f(x) 8 x+ 12 e YA 5 75197



10. xof gt ] ¥ +ax? —x+ b5 x-32 UFUS o S U= &
thea 2o zAHoR Fotel 1 vk a4+ b+c+d+ ko e
?.

ShH?
k| 1 a -1 b
d 33
1 4 11| 37

D 19 @ 20 3 21 @ 22 B 23



11, x+y+2z=0, 2x—y-Tz=

3= Al HFHAIZI= x,y, zol sk
ax’> +by? +cz2 = 10| AHE o, a

b+ Be oY

D 11 ® 8 B 7 @ 6 B 4



12.

@ 1



13. x- 12 UY¥A YHA7L 3, x - 22 YFH Y7L 7, x - 322
el Y27} 13 0] Bhs 7P W 4] TheHALS f(x) e @
f(=3) 9 g2

D 7 ® 10 3 11 @ 12 B 13



14.

x-3 08 s (x), FoIAE Re} 31 Q(x) ] A%:9]
g4 %E@)mm 2=

1 1
(3% +1) @ ;-3 ® (8% -1)
(33O+1) @ %(329 )



X'(x? +ax+b) = (x-2)*p(x) +2"(x-2) 7}
ToHH?



